
 

Break-Even Point Analysis
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TR = Q X P  

TC = FC + VC

VC = AVC x Q

𝑇𝑅 = 𝑇𝐶 ⇒ 𝑄 × 𝑃 = (𝐴𝑉𝐶 × 𝑄) + 𝐹𝐶 ⇒ 𝑸 =
𝑭𝑪

𝑷 − 𝑨𝑽𝑪
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𝑄 =
𝐹𝐶

𝑃 − 𝐴𝑉𝐶
=

18400

11 − 7
=

18400

4
= 𝟒𝟔𝟎𝟎 

𝑄 =
𝐹𝐶

𝑃 − 𝐴𝑉𝐶
=

18000

8 − 5
=

18000

3
= 𝟔𝟎𝟎𝟎 

𝑄 =
𝐹𝐶

𝑃 − 𝐴𝑉𝐶
=

12600

10 − 8
=

12600

2
= 𝟔𝟑𝟎𝟎 

𝜋 = (6210 × 8) − [(6120 × 5) + 18000] = 𝟔𝟑𝟎  

𝜋 = (6400 × 10) − [(6120 × 8) + 12600] = 𝟐𝟎𝟎  

Sensitivity Analysis 
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𝑁𝑃𝑉1 = [920(1.025)−1 + 1040(1.025)−2 + 940(1.025)−3 + 325(1.025)−4 + 1525(1.025)−4]
− 6800

𝑁𝑃𝑉1 = [920(0.975609756) + 1040(0.951814396) + 940(0.928599411) + 325(0.905950645)
+ 1525(0.905950645)] − 6800

𝑵𝑷𝑽𝟏 = −𝟐𝟑𝟔𝟑. 𝟔𝟔  

0.69 =
1710−1650

1710
÷

(2307.94−)−(2363.66−)

|−2307.94|
=  

𝑁𝑃𝑉1 = [1330(1.025)−1 + 2050(1.025)−2 + 3190(1.025)−3 + 2220(1.025)−4] − 6800

𝑁𝑃𝑉2 = [1330(0.975609756) + 2050(0.951814396) + 3190(0.928599411)
+ 2220(0.905950645)] − 6800

𝑵𝑷𝑽𝟐 = 𝟒𝟗𝟑. 𝟔𝟐  

%12.04 −=
2840 − 2570

2840
÷

230.21 − 493.62

|230.21|
=  



𝑵𝑷𝑽𝟐 = (230.21) + (230.21) × [(−12) × (−
12.04

100
)]

= 𝟓𝟔𝟐. 𝟖𝟐  

 

 


